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a1 1| 25 ug 3 Mg
O Z A3 (247€ NF)
(=k2 : mm)
7|2+ 244 £ '24.68 24.7¥

A oA 2o |H[&E(%) Hd 2o H[E(%)| "4 2ol | H[E(%)
o = 7522| 8940 1189 150.6 1238 822| 3118 4247 136.2
=2 7725 9146 118.4 135.1 1226 98| 3567 5153 1445
otM M 712.1 896.0 125.8 1316 129.9 98.7 320.4 458.7 1432
=Ss 7054| 8163 1157 1555 1219 784| 2647 3174 1199
o 660.3 644.4 97.6 148.0 83.8 56.6| 2155 250.1 116.0
Ej 5+2ZF 756.3 716.9 248 176.8 119.6 67.6| 2326 210.9 90.7
a & 750.1 960.4 128.0 160.2 101.6 634| 3027 4920 1626
AmH 684.6 1054.7 154.1 1384 116.0 838| 2731 543.8 199.1
Hd 761.2 947.2 124.4 166.0 98.6 59.4 295.9 439.1 1484
RN A 7472 811.8 108.7 156.7 81.6 52.1 282.4 328.4 116.3
Nz 8534| 10388 121.7 1912 186.9 97.8 3185 336.9 105.8
o 801.0 834.4 104.2 182.4 147 .4 80.8 287.8 256.7 89.2
Bz 891.4| 11315 126.9 218.3 224.8 103.0 289.1 3124 108.1

~ (BEXN) 7|48 6971 &z 7 c gy iy Z=u| 20| JHE HE2 A

A

’

o 717473 3/MY (2489 ~24.109)

28 yse y#7|2

24088 | HA(225.3~346.7mm)2}t H|X5HLE BZ| HH(246~256TC)ECt ==

24,098 | HA(84.2~202.3mm) 2} BS HAQ02~208TC)2ct =2

24108 | €'A(37.0~64.3mm) 1t H|=

oF!

H(13.9~14.7TC)2 BIR3tAHL =5




x al 313
A1 2| M g X 24
O A4 HI(24.7€9% 71F)
(CH2] : 2 akm?)
TE Ct=&H M S NEsETH SUSAN T
= H|E = H|E = H[Z = H|Z
—_r"|_-l o 01[ L‘j %OH (o/c; O:” Lnj %OH (%) 01[ L‘j %OH (o/o) O:” Lnj %OH (%)

Al 6,895.7| 8,054.00 116.8 1,167.1| 12364 1059 2243 2553 113.8 1,593.1| 1,695.5 106.4
5tk | 3206.8 34170 1066 1,163.3 12322 1059 149 154 1034 260.1| 2537 975
“t=Z | 1,6094 2,1700 1348 - - - 1949 2080 106.7] 3694 3679 994
ZZ | 1,3626 15550 1141 - - - - - - 3225 3542 109.8
AAZ | 7169 9120 1272 38 42/ 1105 145 319 2200 6411 7197 1123

 [BRl2 oNH, (45Ul YA, [3Yi2 NI, (P2 2, 531, MTY ¢ BRI 2 e 2

- A

SR SR U
FA | oA (84 Bbm) (%) << (/%)
T 2 RS == =9 uef
(km (ELm) | (EL.m) = AR x| o4 mm) gy | 2=
S
= A 12,923 8,053 62 50 283
o | 2¥E | 2703 198 185.5 2900 2001 69 52 398 199 0
o LB 3| 6648 145 129.5 2750 1,365 50 51 251 169 0
S olE A 209 180 173 87 51 58 52 246 1 0
oF & 1,584 161.7 153.8 1,248 894 72 48 353 76 0
ol &} 1,361 164.7 153.5 505 346 58 42 274 0 0
Moo 413 | 3649 359.9 28 22 78 57 205 1 0

oo Lg 3 500 164 152.5 181 86 48 43 279 17 0
P 875| 205.1 197.5 49 32 65 43 296 1 0
o | e 82|..1986| 1916 54 39| 72| 49| 217 2 0
S | BEA 26| 2385 2323 22 16 71 43 353 0 0

gt A 925 179 165.7 790 500 63 47 455 0 0
o 2| 2285 46 409 309 181 59 38 100 98 0
ol ok 954 | 2102 199.4 74 54 73 63 318 0 0
2 |8 = 90| 2655 257.2 815 568 70 55 412 27 0
A - 3,204 80 71.9 1,490 918 62 55 231 0 0

M| MEIZ 763 197.7 189 466 279 60 42 361 20 0
x| F oo 1,145 110.5 105.5 707 476 67 52 289 16 0
| 2 ot 59 438 41 1 50 41 82 65 277 0 0
=t 2 163.6 75.5 70.2 17 69 59 45 241 1 0

2 5 193 828 744 191 116 61 51 560 7 0
F ) M2 SR AEEERIR M2 i EEsle ZdTEHFE e 70%)
2 YFHE2 FEI0A M2 ANEHESF &



<
- &9
Mgk Neg arEaf
7 A A (44 2km) (%) o4 (m/%)
T 2 M | ok | =2 uee
(km) | (ELm) | (EL.m) 5 A | o | (M) | e | A
Mg | M | T - | s
B 444.9 255.3 57 51 491
ot = 125 672 672.1 13.1 9.1 70 61 115 0| 02
z chat 29.4 112 109.7 8.7 6.3 72 64 501 0 0
=Fs 235 | 156.8 152 103.2 63.1 61 46 405 0 0
obA 6.7 439 37 185 9.064 49 58 | 2,121 - 0
= 37 40 39.9 2.6 2.1 80 56 447 - 0
n 2= 301.3 145 1426 160.3 89.8 56 52 533 0 0
- o = 575 120 1125 36.2 155 43 31 528 0 0
v LA 67 60 49 30.3 8.1 27 44| 778 - 0
< ch ot 77 485 47 13.1 5 38 38 651 - 0
Mot 1.2 30 27.4 2 1.6 80 77 880 - 0
S 11.7 48 48 5.2 4.4 85 64 618 - 0
T 12.7 93 93 10 9.3 94 83 571 0
= += 49 64 59.8 31.3 235 75 65 677 0
A e 199 | 109.7 109.6 10.3 8.4 81 59 380 0
YL ST AZHESTATNK M3t i Yste ET2HFREE 50%)
IR
Mgt Neg Abgt a5 2
&7 Y (4 Qkm*) (%) FAR S (m/Z)
T 2 Mgk =9 mm
(ELm) | (EL.m) & =R ~ w2 | 4o
51X ofl T2
Nag | mae e A I
= 7 1,550.00 | 1,23650 | 798| 70.1| 739.1 - -
TS| 175 1737 917.1 7003 | 764| 589| 2384| 1879| 656
= A 102 101.1 139.3 1144 | 821| 846 992 | 253.1| 1014
g | 2 705 70.1 85.7 652 | 762| 77.1| 2641 | 2653 | 307.1
H oo 50 49.7 162.7 1375| 845| 839 204 | 5438 | 781
A 134 128.9 115 3 26| 584 233 -1 217
T o - 25 230 2118 921| 933 52| 616.1| 4046
MRz | EMZ 126.9 126.6 56 42| 764| 687 32.7 44| 113




o AF FFAE(24.8¢~24109)

(2H2l : m¥/s)
2s | A '24.8% '24.9% '24.10%
oA 2o | HIE(%) | old 2ol | HIE(%) | od 28 | HIE(%)

H (4 gkm) 10,284 8,166 79.4 6,212 5,018 80.8 2,277 2,725 119.7
Ch=2H 491.5 148.5 30.2 355.9 255.6 718 152.3 132.8 87.2
sta2t ST H 1.9 0.7 374 25 6.3 253.6 0.9 1.0 106.4
- E = 2,774.7| 1,587.0 572 1,399.9 781.6 55.8 481.9 499.7 103.7
ISERS! - 3.8 - - 3.2 - - 0.9 -

Ch=AE 320.7 17.7 36.7, 2413 1565.4 64.4 105.8 71.0 67.1

ey | BT 20.9 18.7 89.6 18.9 246/ 1300 16.1 16.8]  104.1
T e - - - - - - - - -
SRS - 12 = = 1.2 = = 1.1 -

CHExc | 2092 68.6 328/ 1832 107.2 585 63.3 508 83.4

2y | BTH - - - - - - - - -
2N - - - - - - - - -

ESS -1 5828 - -1 3296 - - 1192 -

CHEXc | 1184 528| 446 9.6 49.8 516| 482 213 44.2

oiatzt | STH 55 42 76.2 5.0 52| 1044 40 48] 1184
TS ST 24.8 20.7 83.5 16.2 10.6 65.4 58 4.1 70.7
X 4= K| - 4421 - - 2058 - - 919 -

« (B2 oMH [HEZie EAZME s (3212 AnH, [PAZIe oiEZ SR MAIZ 2 ERRIZE 2 AlMe 23
- =AY
(ck2l : m¥/s)
2l 04,8 '04.9Y 24102

= ofd | A= |v2%)| o | AE |(d2@%)| od | A= |vE(%)
A (84 gkm) 3052.5| 1,038.2 34| 22732| 14723 65| 9898 744.3 75
Aokt 107.4| 444 4 07| 743 82| 550 706 128

sz £ = 3735 102.0 271 259.1] 1767 68| 948/ 606 64
3 A 10.6 20 19 6.1 46 75 25 16 63

oF = 467|458 9| 397 3.1 89| 242/ 207 86

o s} 385 175 45| 347|167 48| 184 161 87

M o 10 0.9 90 1.1 05 45 0.4 0.3 80

= ¢ 17 16 93 15 0.9 58 0.8 07 85

=z | ZEss 36 20 55 2.1 08 38 12 06 50
5 A 0.4 05 126 05 05 93 06 05 84

S 314, 130 4 27.1 18.1 67| 186/ 165 89

oz 1916/ 329 17| 1300 804 62| 393 138 35

ol of 56 35 62 45 24 54 23 18 79

o o 2 o 397, 167 42| 328/ 230 70l 174 167 %
- of = 1609 483 30| 1451 80.9 s56] 427 329 77
R F oo 679, 166 24| 578/ 229 40| 348/ 150 43
o Mz 405 306 76| 297 222 75 9.4 33 35
B oo} 29 1.3 45 26 14 55 1.1 08 71

7| gy 8.6 36 42 5.4 33 62 32 32 101
& E 7.1 44 61 6.5 33 51 29 22 76




- g
(ck2 : m¥/s)
2 24 8% 24 9¢ 2410
T ofd | A= | we | od | A= | ve | od | A" | e
Hl (4 Tkme) 75.773| 63.258 83] 68.335| 93.493 137] 56.353| 60.264 107
I 2 = 14 0.435 31 1.883 462 245 0.559 0.64 114
== 0.506 0.277 55 0.605 1.69 279 0.362 0.34 94
q A 7.453 8.746 117 6.907 8.26 120 6.49 7.63 118
4 = 0.082 0.021 26 0.068 0.13 190 0.065 0.038 46
T = 6.9 4.445 64 5.595 9.76 174 4.019 4.07 101
Al CH = AFd 2.524 4.051 161 2.853 1.85 65 2517 1.85 73
oy et 3.176 1.048 33 2.77 34 123 2.443 2.82 115
o4 = 0.381 0.174 46 0.343 0.47 137 0.253 0.13 51
= A 0.402 0.254 63 0.366 0.7 191 0.313 0.23 74
MRZL = 0 4962 3.707 75 4.496 46 102 3.72 4.47 120
o M2 4 0.506 0.46 91 0.477 0.59 124 0.299 0.29 97
sk
(ck2 : m¥/s)
2l 24 8¢ 24 9¢ 2410
T ofd” | A& |HlE@ | od | AHE  HE% | od | HE | HE%)
A 7,498.2| 4,306.1 574 36705 2,053.4 559| 1,306.3] 1,349.4 103.3
=S| 176.0 541 30.7 77.0 228 29.6 25.1 22.2 88.4
= 256.1 119.6 467 104.5 498 47.7 319 325 101.9
2t of et 4116 185.1 450 183.2 83.9 458 83.6 105.8 126.6
Hg 548.9 3499 63.7 256.5 161.6 63.0 103.0 132.9 129.0
| A 38.2 345 90.3 25.1 16.7 66.5 6.5 3.2 492
et 1,343.9 843.8 62.8 753.6 446.8 59.3 231.8 203.1 87.6
MEZE | EMY 248 20.7 83.5 16.2 10.6 65.4 58 41 70.7
ol AE 01~23d UM & URTHLMLURTTEURY) HHXR
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2 24,89 '24.9¢ 2410
= ofd | AE || od | AHAZ |H2%)| o | A |6 (%)
EES -1 0.082 - -1 0048 - -1 0017 -
7tel - 0.000 - -1 0000 ~ -1 0.000 —
Fut - | 0.000 - - 0.000 - - 0.000 -
At HE -1 0.000 - -1 0000 - -1 0.000 -
Se ex - | 0.000 - - 0000 - - 0.000 -
R 0.265 0.252 0.140
o= -1 0525 - - 0483 - -1 0.130 -
x| 2 (ko) -1 0320 - -1 0298 - -1 0.110 -
=X -1 0293 - - 0268 - -1 0057 -
Alekgl -1 0156 - -1 0152 - -1 0120 -
2 - 0.061 - - 005 - -1 0010 -
= -1 0063 - - 0059 - -1 0030 -
= - 0.360 - -1 0171 - -1 0018 -
Fzg -1 0.400 - - 0357 - -1 0.030 -
Abgth - 1228 - -1 0670 - -| 0276 -
S - 0.160 - -1 0123 - -1 0015 -
= - 0565 - -1 0618 - -1 0034 -
HH - 1247 - -1 0682 - -1 0062 -
H| 2 -1 2010 - - 1602 - -1 0299 -
CI3= -1 0764 - - 0443 - -1 0013 -
2t -| 0591 - - 0265 - -| 0028 -
uy =2 —| 5247 - -1 1924 - -1 0366 -
o 2l et - 159 - -1 0833 - -1 005 -
== W= - 0.001 - -1 0019 - -1 0019 -
ols -1 6927 - - 3742 - - 0821 -
AT -1 0515 - - 0255 - -| 0019 -
SHA| - 0282 - -1 0184 - - 0004 -
20 ~ | 1.008 - - 0611 - -1 002 -
<@ = - 1535 - -1 0935 - - 0371 -
got -1 0713 - -1 0478 - - 0.008 -
== -1 0419 - - 029 - -| 0004 -
X ot - 0375 - -1 0215 - -1 0.002 -
SH&I —| 0402 - -1 0227 - - 0.005 -
A} - 0531 - -1 0621 - - 0.000 -
=2 ~ | 0.340 - - 0111 — - 0.005 —
EFx -1 10.907 - - B.567 - -| 0573 -
HE -1 0785 - -1 049 - -1 0043 -
Al - 0924 ~ - 0513 - - 0031 -
= -1 0759 - -1 0525 - -1 0015 -
=8 -1 0973 ~ - 1.035 - -1 0.183 -
2L = — | 410.300 - - | 228.000 - - | 99,500 -
B -1 0439 - -1 0253 - -1 0.000 -
Alry -1 0536 ~ - 0284 — - 0.000 -
AMmH | o SO E) -| 20686 - - 11.428 - - 1307 -
29 -1 2412 ~ - 1.305 - - 0004 -
AT - | 86.449 - - | 48975 - - | 13.068 -
o= -1 0.898 - -1 0803 — -1 0.000 -
e<Eol -1 1832 ~ - 1907 - - 0.000 -
2LMsH =X - 0267 - -1 033% - - 0.000 -
M -1 1130 ~ - 1.009 - - 0.000 -
o 5 x| ~ | 14.486 - - 923 - - 1.363 -
Zx - 2082 - -1 1636 - -1 0580 -
oAbzt 2 - 2097 - - 1246 - ~| 0442 -
e -| 4229 ~ - 2963 - - 0153 -




2 '24.8% 249 '24.10%
old | Az ol | A old | Az

= —| 2093 —| 1463 —| 0064
o = - 3277 - 1948 -1 0690
nhz - 0744 - 0442 -1 0156
w8 - 1033 -1 0614 -1 0217
2= - 0278 -1 0.165 -1 0058
et -1 0605 -1 0360 -1 0127
8% - 0508 -1 0409 -1 0156
ol A -1 0339 -1 019 -1 0,080
A - 4967 - 3743 - 1725
x| - 1114 - 0644 -1 0263
2ot - 17 - 082 -1 0048
PN - | 356.300 - | 132,750 - 30,040
%ots - 25100 - 33580 - 43790
253 - 8700 - 2740 -1 6370
7N - 0946 -1 0577 -1 0216
=53 - 0274 - 0246 -1 0008
e -1 0760 -1 0370 -1 0209
24 - 1786 -1 1110 -1 0388
5 - 0422 -1 0250 -1 0093
= - 0539 -1 0320 -1 0113
g2 - 1240 -1 0746 -1 0262
Bt -1 1.860 -1 1119 - 1356
5= - 0824 -1 0512 -1 0179
=3} - 2105 - 1924 - 0400
S - 6354 -1 3560 -1 1459
ol - 1925 - 1755 -1 1.008
27 - 0050 -1 0,000 - 0443
A - 0056 -1 0028 -1 0012
c} of - 5364 - 4846 -1 0513
3 -1 0320 -1 0579 -1 0218
=4 - 0594 - 0532 -1 0015
= - 1825 - 1640 - 0025




o
na
r
02

A1 3| e o

O % A (2479 1NF)

o 7|2k 243 ¢ 2464 2474

C£|{
Zh4of B2 x| ™ o | 26l (HIE(%)) o | 2 (HIE(%)| o | S5 |HE(%)
HF (=R, dotzgm) 179.0| 290.8, 1624| 1670 279.8| 1675 4328 8750 2021

(2R, ZEUiW) | 4465 7271 1628 3642 5619| 1542| 15782| 23295 147.6

2T (M7 XD 27| 328 1207| 155 10.7| 688| 1151| 1430 1242

3I_}.

o, | F oy, asm) 99| 123| 1237| 63| 62| 976 407| 480 1178
X (s8z, 220) 170/ 215 1265 99| 61| 624 733| 945 1288
(A, H2h D) 1512| 1920 1269 1154| 365 316 6625 10015 151.1
HeEl(otyd, 221) 81| 155 1917 60/ 63| 1053 287 439 1529
U ESIEENPNES 1437| 1300| 904 1592| 100.6| 632 4278 4804 1123
To|Es, 2um) 130.7| 1854| 141.8| 1338 1253| 936| 4063 7133 1756
2 2(=s s2octal) 1564| 2219 1419 1527| 1522| 99.7| 5097 8257 1620

L}

= | DYEs 1yn) 2086 3172 1520 2084 217.8| 1045 679.0| 11036 1625

N

HHER Mz 236.5| 3796, 1605 236.8| 2766 1168 800.7| 12105 151.2
gekEg, Azl 339.4| 4769| 1405 334.1| 3195 95.6| 11252| 13254, 1178
LT, attxim) 4181 5312 1271] 3957, 346.2 87.5| 1452.9| 14750 1015
SHESF, olgdm 416 729 1750 27.5 248 90.2| 129.7| 2296| 1770
ST (R, 32D 1066 209.1| 196.1 98.6| 1584, 160.6| 3336| 7546 2262
a | FoEs 4MD) 120.3| 257.8| 199.4| 107.7| 1741 161.6| 4054 9470| 2336
z O & (A, A7) 19.0 208| 156.8 14.3 1.3 79.3 58.1| 114.0| 1963
MEAl(alzH, gatm) 34.6 785 2269 31.2 346| 1108 1104| 3322| 300.8
ORMAl(Z A, Bhfictal) 6.0 104| 1744 53 58| 107.7 15.9 357 2252
/Oc\i TR I 19.8 21.2) 10741 22.0 20.3 24 54.7 46.8 85.5
I7;t L (25, U3Edim) 48.3 557/ 1151 52.1 48.5 93.0) 1428 1174 82.2
" SdER 33D 24.1 402 167.0 18.7 209 1118 926 1229| 1327
g S (=R, oam) 38.4 60.6| 157.6 27.9 202 1045 1457| 1528 104.8
< TeH(2R, sy 58.1 832 1431 416 41.0 985 209.0| 2089 99.9
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